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9. Lt I B I 7.4 7.6 1.6 0.5 9.4 9.4 11.6 11.9] 13,000 17,000 — <1.0 0. 45 0.35 0. 05 0. 04
OFR I (CHER)
WA mEHE KRAAVRE  epermmBski] im0 & ot W A LK B W B s el & = % &)y
R 6.5~8.5 5mg/0LL T 50me/0LL F 5me/0LL |- — — — —
AT REH 1A 2l 1Al 2l 1 2l 1 2l 1 2l 1 ol 1 ol 1 g2
H 54
6. f& 1L Il — 6.7 — 18.0 — 13.5 — 4.5 —[=240000 — - — 1.65 — 0.26
CRANN AR A)
O/ (AFERY)
A H KEA A RE VEML T EERE] ® F Y E & W fF B OFE X OB OE OB | R S = ES o ) v
A R 6.5~8.5 omg/0LAF 25me/0LL T 7.5me/0LL I 1, 000M P N /100meLL F — — —
A 2T IR 4 1A #2lE 1A 2l 1] 2l 1] 2l 1 2l 1 g2 1 g2 1 g2
H 54
10. FARBEKE — 1 — 1.2 — 5.8 — 9.5 —| 7,900 — — — 0. 44 — 0. 06
11. B/l — 7.3 — 0.5 — 4.6 — 8.3 —| 4,900 — — — 0. 39 — 0. 06
12. foOR)I — 9.2 — 1.1 — 3.0 — 14. 2 —| 17,000 — — — 3.20 — 0.55
13. SR 1) — 7.6 — 0.9 — 3.2 — 8.9 —| 54,000 — — — 0. 86 — 0.12
14, /NI — 7.4 — <0.5 — 5.6 — 8.7 —| 92,000 — — — 0.5 — 0.05
O K i B AR A
R LRI A (R = - BT 4 #5) 9RO R W) FE1lE SF245 A7 HEK
W E A A 248 A 27H e Homl SR8 2 7 HEK
HAEES Jefins) @® @) @ @
B2 AT ik ik ik £3ks —
KR MPN/1 0 0me 4,900 2,200 1,300 490 5,000
— AT /mo 1,400| 1,400 890 390 —




